.} DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12JPCMO05 JEE PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST- 5) Total Marks: 180

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries
4 marks. For each incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator

PHYSICS Q. No. 1 to 15 component) at this point be 0.3 gauss.
The magnetic moment of the magnet is.

1. What is the Work done by the magnet of

moment M. If it is rotated through 360° in A)2.4x10°em.u
magnetic field H? B) 8.0x 102e.m.u

C)0 D) MH D) 3.6 x 10°e.m.u

<. < O . ] z ST GHHTHSl0  cmausHHEIUL L
H &mbst yodSld smbsd Slamiusimes bs  HBeISsSS) B

M @&nedor &mbab gcsremm 360° &wpbm Ablw srbssldr Olger (pever, o Slos

Crras 2 _drerg) sMbHHHEH 6T oW S ESIHHE
20 @&.8 @ smemeveeo aployeireif]
Sleowhgerorgl. BHs yereflufleo yedl smHsY

@&iwiuipid Geuemen?

A) 2rMH B) 2 MH

C)0 D) MH
2. The ratio of intensities of magnetic field,

at distance x and 2x from the centre of

yoodhSHleor Sy 0.3 &meiv ereotled (HlemL ol 1L

se. M) Db Yareflufleo &MbsS SlpiLs Smeoflesr

WSl
magnet of length 2 cm on its axis will be A) 2.4 x 10° e.m.u
A)1:4 B)1:8 B) 8.0x 102 e.m.u
C)4:1 D)8:1

C)1.2x 10°e.m.u
2 OeB  Borgporor @  sTHsSHle D) 3.6 x 10°e.m.u
cowwHSeSIHHE X wHDD 2X  HITHSHleo

4. Alarge magnet is broken into two pieces,
X-31§8 6o sHsUILeo OlFdasefler ef&Hlsh

so that their lengths are in the ratio 2 : 1.

A)1:4 B)1:8 .
Then the pole strength of the two pieces
C)4:1 D)8:1 will be in the ratio.
3. AVery small magnetis placed in magnetic A)1:1 B)1:2

Meridian with its south pole pointing
north. The null point is obtained 20 cm
away from the centre of the magnet. If
the earth’s magnetic field (horizontal

C)2:1 D)4 : 1
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@ Ouflu srbswreorgy S Gieo(Hsorms

2 _ooL &&Uu[HISIDS)) 918607 Bormisserfleor
eN&Slsb 2 1 Guepid Bp sicor(Hseflesr (pemeor
aueSlemsefledr 651& &b
A)1:1 B)1:2
C)2:1 D)4:1
5. A cylindrical magnetic rod has length
5 cm and diameter 1 cm. It has uniform

magnetization 5.3 x 10° Am™. Its net
22
(=)

magnetic dipole moment nearly. 7
A) 107207
B) 0.5x107JT"
C) 2.5x107JT"
D) 2.5x107JT""
8(1h 2_(IHED6IT 6)lig 6) &b G & 600TLq 65T Bomib 5 O\&.18
wHMID DNGST 6 L b 1 O&F.B. gy OlubmyeiTer
Emmeor BHSWLIGSTT wSIy 5.3 x 103 Am™
B g oot @smruneot HaT &MHe SIHULSSIH6ST
22
II=—
( 7 )

A)
B) 0.5x1072JT"
C)

D) 2.5x107JT"

2.5x1072JT"

6. a - Particle is revolved in a circle of radius
r’ with speed v. Then find the value of
magnetic dipole moment

A)2evr B)3evr
C)devr D)evr
r I (LpeITeIT aIl_L_Uurem&ulleo &LEYID

o- giseflesr Gousdo AM™ eresfled, Bseir HMHS

SlmiusSSmest Sl
A)2evr B)3evr
C)devr D)evr

7. A metallic rod of length 20 cm is placed
north south direction and is moved at a

constant speed 20ms to wards east. The
horizontal component of earth magnetic
field at the place is 4 x 10 tesla and the
angle of dip is 45°, the e.m.f induced in

the rod is mV
A) 1.6 B) 160
C) 16 D) 32

o — Ogcr SHomauileo emeudsiUL (Heiter 20
©@&.38 Berpeirer 2_Boons s sesor(h), 20ms™ Ermeor
Gouss oo SpsE Gorssd BHEIBSIDE. DbHs
8L_s8lev yel BMHS LoodSledT SlevL_Sse6r sami
4 x 10 @Lsveon whHmid &Mbs Fifley Gamesrid

45° ereoflev, 2 Boons &8 6torlg 6o gitesor UL

Dleor Bwé@ oMemaufleor wHloy mV
A) 1.6 B) 160
C) 16 D) 32

8. At a certain place, the horizontal
component of earths magnetic field
Is — tlmes the vertical component.
The angle of dip at that place is
A) 60° B) 30°
C) 90° D) 45°
H GO L. &1L_58l60 yeiufletr SlemL_&ser
&6 60T S| D155t O\&FhRIE &8I F6 MHIGGT W SHIEHU
oSl % L_1hi@) 6Teofled Slhs SL_GSleor &bHs
Moy Gameworid

A) 60° B) 30°

C) 90° D) 45°
9. A body of mass 8 kg is hanging below

another body of mass 12 kg. The

combination is being pulled by a string

with an acceleration of 2.2 ms2. The
tension T, and T, will be (g = 9.8 m/s?)

A) 200 N, 80 N
B) 220N, 90N
C) 240N, 96N
D) 260 N, 96 N
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8kg

8 &1.& Blemmuerer 6mp @um(HeT 12
&.85  Hlempwerer Gumpoflesr S
uLSSlev s igweury O&nmhisesl O
ul_(peteng).  Seuellemesoriy 2.2
Balil2 WHssSler 2 drer (B
Govaneor sUIDTL S(1R&H&UIU([H SIS
oleotley Ggedloms T, whgi T
(g = 9.8 Baf1?)

2

A) 200 N, 80 N B) 220N, 90N
C) 240N, 96N D) 260 N, 96 N
T1
V'
12kg
a

8kg

10. Two blocks are in contact on a friction

less table. One has mass m and other
has mass 2m. A force F is applied on
2m as shown in figure. Now the same
force F is applied from the right on m. in
the two cases respectively. The ratio of
force of contact between the two block

1.

will be.

om = F | 2m
m|<— m
TTTTTT7T7 TT77/777
A) Same B)1:2
C)2:1 D)1:3
Sr6vor (i) &L_60L_&6IT 0(1H

2 gmbeubhm GuwemLwL et O (&
@&nesor(HoTengl. 6(H  &HL_coLulledr
iBlemm M wbH mib wH O &L 6mL_uSledr
Hlemm 2m.
Blemmujerer &1 emLulledr B UL GSlev

F ereorm oNlems 2m
SITL_Lq W6TET U M) @&woevu(h Simg).
Coapdb BsH dorey ey F
Bleom mesr  euevgl  UMSSHEODHS
©&nI55UU[H SDs. SIH &L coL_&eifleor
@& eSlemssafler aS&IS0.

omt=F F|2m
m|<+— m

TTTTTTTT7 TTTT7777
A) rorg) B)1:2

C)2:1 D)1:3

A horizontal force 25 N is necessary to
just hold a block stationary against a
wall. The coefcient of friction between
the block and wall is 0.4 the weight of
the block is

L~
L~
25N -
—) —
L~
A)25N B)20 N
C)10N D) 5N
&HL_60L 66T MM seuiflev

sa)blemevulley smai&lGig usHaTesT
SooL ol L 6Slems 25N. &1°_ 6oL &G
SooLUul_L

FeN(H&&GHD 2 _mmiey

&OT8LD 0.4 6T60Tl60, &1 6oL _uSl6oT 6T

25N
—

AN
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A)2.5N B) 20 N
C)10N D) 5N

12. A block of mass M is pulled along a

horizontal friction less surface by a rope
of mass m. If a force p is applied at the
free end of the rope. The force exerted
by the rope on the block will be

A)M+m B) M+m
P M P
M P

M

C)M+m D) AJer

m blemp ©@&neor o  sHullbmmey
M Blemp O&neor &L 6oL 66T
o mmieubm  SHleoLdser  urdllev
ISYOL LA GF 31T &SuIlleor
wLm Woemerwlev p erdim  MNlems
@&FmIS5UUH SlDE. sUIM &1 emL_uSlest

Gweb @&FW6LU(H SHGHID 6Slens
A) M +m B) M+m
P M P
M P
M
O 3 O) it e

13. Two bodies of mass 3 kg and 4 kg

are suspended at the ends of mass
less string passing over a friction less
pully. The acceleration of the system is
(g = 9.8 m/s?)

A) 4.9 m/s? B) 2.45 m/s?
C) 1.4 m/s? D) 9.5 m/s?

3 kg whmib 4 kg Hemmuerer S(H
@urpL_seiT Hlemmwibm 6(H Sullhmmey
SoooordssUUl_ (K 2 mmieubm &0l
oudlwns OscudSlngl.(g = 9.8 m/s?)
eTeoflob Q&I GGG (P ([H &b

A) 4.9 m/s? B) 2.45 m/s?

C) 1.4 m/s? D) 9.5 m/s?

14. Two masses of 5 kg and 10 kg are
connected to a pully as shown what
will be the acceleration of the system
(g — acceleration due to gravity)

5kg

10kg

Ne BIY, 0% DY,

5 &8 wHmb 10 &.& Hlewmujeirer
Smounmersar  &sU0  cpesTdlev

uL_ S 5lev &SM’_1q W UMM
&606001 88 8 UL (1) 6T 6T 60T oT6ofle
@sTE&Uller (WH&&HD (g — 6resTus)
yel) Fritiy (w(h &&1b)

5kg

10kg

Ne BIY, 0% DY,

15. A block of weight 4 kg is resting on a
smooth horizontal plane. If it is struck
by a jet of water at the force of 20N
and at the speed of 10 m/s the initial
acceleration of the block is

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?
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4 5.5 blemmuyeirer &L_6oL
cupaIpLIUTesT SlemL_&germ urtbley 6ilicy
iBlemevullev 2_eiterg. 20 N eSlem&wL_ 6ot
10 m/s

O  caTOIeSHHEH  ©ovsifleu(mid

Cousddlev Gaovopid Hif

8 600T GO0T [TIT6L @ursepmiorm
@&swoU’ LTeb S 2 6oor(HLd
W H &b

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?

CHEMISTRY Q. No. 16 to 30

16. Oxidation state of Iron and the charge
on the ligand NO in [Fe(H,O0).NO]JSO,
are
A) +2 and 0O respectively
B) +3 and 0O respectively

)
)

C) +3 and -1 respectively
D) +1 and +1 respectively

[Fe(H,0),NOJSO, 6TGOTM
@aiwsHeo apllesr N&HAwBeorHm Hlemeo

SI60)600T6) &

wihmib FFeofl NO 61 Baneor Wleiraiem b&Hlweor
weon@w
A) +2 wiHmio 0
B) +3 wbhmin 0
C) +3 whmibd -1
D) +1 wihouo +1
17. As per IUPAC guidelines, the name of
the complex [CO(en), (ONO) CIICI is

A) Chloro bis ethylene diamine nitrito
cobalt (I111) chloride

B) Chloridobis (ethane -1, 2-diamine)
nitro-K-o-cobaltate (lll) chloride

C) Chlorido bis (ethane -1, 2-diammine)
nitro-K-o-cobalt (1) chloride

D) Chlorido bis (ethane-1, 2-diammine)
nitro-K-o-cobalt (111) chloride

IUPAC oo maaficsr Ulg.
[CO(en), (ONQO) CIICl eresrm Siewesrons
@eiwsSlest Gluwi
A) &B@armf@L_mSl6to (P8 60T -1, 2 6mL_
SiBeor) emm”_ G @asmumeo@_ (l11)
&Goremu(p)
B) @®@ermf@L_mSletv (Fr&8 8661 -1, 2 6m1L_
S18651) emmL_Brm -K- O- @asmumeo@Li
(1) @@armemu(pH
C) ®Bormf@L_mSl6to (Fr&8 60T -1, 2 6mIL_
S1866r) emmL_ B -K-O- Basmumeo@L1
(I @@armemn(p
D) &Bermf@L_mSl6o (Fr&8a60r -1, 2
oL SiBesr) oL _con_ B -K-O-
Bamumeo@L1” (I11) @Bermemm(y)

18. IUPAC name of the
K,[AI(C,0,).] is

A) Patassium tri Oxalato aluminium (lll)

complex

B) Potassium tri oxalato aluminate (II)
C) Potassium tris oxalate aluminate (Ill)
D) Potassium tri oxalato aluminate (lll)
K,[AI(C,0,),
@uuwii IUPAC @uuwit
A) Qur’_L_r&lwib _cor HéE@e0” @
Siepibleoilwid (I11)

B) @um’_L_nr&wib ”_sor bé58601” GLnr

] etrm Slemewrays Baiiins Hleor

DlepndiB@eor” (I1)
C) Qum’_L_nr&wib 1*_feto 4658601 BL_nr
SlepB@eori” (111)
D) Gum’_L_nr&wibd 1*_emr bés8eo” B
Slenbl@eori”_ (111)
19. A magnetic moment of 1.73 BM will be
shown by one among the following?

A) TiCl, B) [CoCl ]*-
C) [Cu(NH,),I*+ D) [Ni(CN),]*-
665162 (1H 6 60T 61 D MG 1.73 BM SMHS

Sy Smedt wHislemeors Olub myeiTer &) 61817
A) TiCl, B) [COC|6]4-

C) [Cu(NH,), 1>+ D) [Ni(CN),J*-
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20. Which type of isomerism is exhibited by
[Pt(NH,),Cl.]?

A) Coordination isomerism

B) Linkage isomerism

C) Optical isomerism

D) Geometrical isomerism
[Pt(NH,),Cl,]
Oubmerer wrHMHIWID

oTdTm  Dlewesoreyd  @afoib

A) Siemesore) mbdIwibd

B) &emevortiy wmbdwid
C) oofl&pb& wmbShwuib
D) euiq 6u wmimlwib

21. Which one of the following pairs
represents linkage isomers?

A) [Cu(NH,), (Ptcl),] & [Pt(NH,),(CuCl,),]

B) [CO(NH,), (NO,)ISO, &
[CO(NH,).(ONOY)]

C) [CO(NH,), (NCS),ICI &
[CO(NH,),(SCN),ICI

D) both (B)and (C)

65T 62 (1 62 66T 61 D MIGIT Semeworiy

wrHdwhiIsem6Ts EMOIIG(HID &S 6mewr&oT o187
A) [Cu(NH,), (Ptcl),] &[Pt(NH,),(CuCl,),]
B) [CO(NH,), (NO,)ISO, &
[CO(NH,).(ONO)]
C) [CO(NH,), (NCS),ICI &
[CO(NH,),(SCN),ICI
D) (B) wibgib (C)
22. Which of the following is paramagnetic
in nature?

A) [Zn(NH,), >
C) [Ni(H,0),J*

B) [CO(NH,).J**
D) [Ni(CN)4]2'
65T 621 (15 61 60T 6 D My 6T U &ITTH & 8 &65T6mID
2 6oL WG 618)?

A) [Zn(NH,),**
B) [CO(NH,),J**

C) [Ni(H,0),J*
D) [Ni(CN),]*

23. Fac-mer isomerism is shown by
A) [CO(en),J**
B) [CO(NH,), (CI),I
C) [CO(NH,),(CI),]
D) [CO(NH,),CI]SO,
sy wHpb  OBHeeer  WLIHHUGBIGEDET)

@ubHdBULS) eT&I?
A) [CO(en),**
B) [CO(NH,), (CI),]
C) [CO(NH,).(CI),]
D) [CO(NH,).CI]SO,

24. Which of the following is electron

deficient?

A) (BH,), B) PH,

C) (CH,), D) (SiH,),
9165162 (M 66T UM MHl6L 6T6VEL_[TT6E0T

&oomun(h 2oL w G 618)?

A) (BH,),
C) (CH,),

B) PH,
D) (SiH,),

25. XeF, is isostructural with

A) SbCl, B) BaCl,

C) TeF, D) ICI,

XeF, 2 1 60T 55 6l eIemIUL

&@)I_UJQJ

A) SbCl, B) BaCl,

C) TeF, D) ICl,
26. Which of the following is a polar

molecule?

A) SiF, B) XeF,

C) BF, D) SF,
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65T 62 (IHGU6DT UMD MHl6L SHI(H6Y A) CO, B) CH,

epovd e m) 6187 C) NH3 D) NF3
A) SiF, B) XeF,
C) BF D) SF MATHS Q. No. 31 to 45
3 4
27. Which of the following is paramagnetic? 31. The number of triplets (x, y, z), where X,
A) CN B) NO* y, z are distinct non — negative integers
) ) satisfyingx+y+z=15is
C) CO D) NO,
UM &b & 60T 6OLDIL 6DL_WIG) 6187 A) 136 B) 80
' C) 114 D) 92
A) CN B) NO* X, Y, Z) 61601 oorm GeueiBeumimeor
y D Qoo M) m
C)CO D) NO, (&oOMWIMHMD (P(LR 6T68oT&H6T X +y +2Z =15
28. Dipole induced dipole interactions are STEOTEOITD) 2_6iTeT ) 6T60Tl6h
present in which of the following pairs? A) 136 B) 80
C) 114 D) 92
A) HCI, He B) SiF,, He
C) H,0, Alcohol D) Cl., CCl 32. The number of ways, is which 5 girls
2~ 2’ 4

and 7 boys can be seated at a round

SledTeU(mIDd Somerrseifley erSlev
© 2 table so that no two girls sit together is

& (H (Y 65601, GT6voTL_UUL_L_ &3(TH (Y 65607

SoiES 2_coLwg)? A) 7(360)? B) 7(720)?
A) HCI, He B) SiF,, He C) 720 D) 126(5!)?
C) H,O, Alcohol D) Cl,, CCl,

5 ©@u6ooT M MID 7 <, 6001 @\&T6toT(R &
29. Be?* is isoelectronic with which of the DOIO 7 < 686

following ions? Ouctorsel  SiMHEMHES  SoITHITD)

@ oL Guwemsuller 6185 em6e0r

A) H B) Li* audlseifleb Do emaudseumb?
C) Na D) Mg* A) 7(360)? B) 7(720)2
Slesrou(pld  Swedflsefles  org  Be? C) 720 D) 126(5!)2
SweflyLesr 055 un  Geuerfl
GTELEL_TTEST SIGOLDUIL DL UIGI? 33.1f *C,"C,=10:1 then the ratio
A) H* B) Li* (n2+3n): (N2—3n +4) is
C) Na* D) Mg* A) 27 : 11 B)2: 1

30. Which of the following molecules has C)65: 37 D)35:16

the maximum dipole moment?
C, " C,=10:1 eteoflev (n? + 3n) : (n? —

A) CO, B) CH, 3n + 4) eredrm NIHHID
C) NH, D) NF, A) 27 : 11 B)2: 1

SHpor6eoT 2_hS S 2oL WEI?
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34. The value of
1 1 1 1

+ + tot——+ .
11501 3148! 5146! 49121 is
51 51
A) 2 B) 2_
511 51
250 250
C) o D) Sor
1 1 1 1
1501 31481 s1461 " 29121
11501 3148! 5146! 121 oo
&Iy
A) 2% B) 2
511 51!
250 50
C) R D) 2_
50! 50!
, 60!

35, |f (30C)?+2(30C,)* +3(30C,) +.......+30(30C;,) N

then a is equal to
A) 30 B) 60
C)10
L 60!

(30C,)* +2(30C,)* +3(30C,)* +.......+30(30C,, )’ = o0’

eTeofleb oL —6oT Sy
A) 30 B) 60
C)10 D) 15
36. The total number of functions F = {1, 2,
3,4} — {1, 2, 3, 4, 5, 6} such, that
A) 60 B) 90
C) 108 D) 126
F={1,2,3,4—{1,2,3,4,5, 6} &r
@& Fmiyseiflesr o16vor cofld o
A) 60 B) 90
C) 108 D) 126

37.LetS={1,2,3, ...... 9}, fork=1,2, ....
S5, let N, be the number of subsets of
S, each containing five elements out of
which exactly K are odd, then N, + N, +

N3 +N4 + NS =
A) 210 B) 252
C) 126 D) 125

S={1,2,3,...... 9}, @i k=1,2, ...
5, N, ercorug) 5 2_mitiy&semerr ©\&ITesor_
S-61 2 1" sHemormhissar, k eresrugy Fflwuns
oohemm eredor eTeoflev, N, + N, + N, +N,

+ N5 =
A) 210 B) 252
C) 126 D) 125

38. The equation of the parabola whose
vertex and focus lie on the axes of x
at distances a and a1 from the origin,
respectively is
A) y* = 4(a -a)x
B)y?=4(a,—a)(x—a)
C)y*=4(a,-a)(x-a,)

D) None of these

X 18 El65T B F) DI6m10[H S (LY 60T LoD M
GNMwsgTID (WPeomBGw a whmib al
6T6ofl6b STuTaIeHeTIS ST FL6STUN(H:
A) y? = 4(a,-a)x

B)y?=4(a,—a)(x—a)
C)y*=4(a,—a)(x—-a,)
D) Seublev argidlebemev

39. If parabola y'=Ax and

25[(x=3)’ +(y+2)’]=(3x—4y-2)* are
equal, then the value of A
A)9 B) 3
C)6 D)7
25[(x=3) +(¥+2)’]=(Bx -4y -2)°
LofH b V= Ax 6T60TD UIT6U6D6ITILIGIG 6T
&Lo1b eTeoflov, A 65T &Y
A)9 B)3
C)6 D)7
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40. Parabolas y* = 4a (x - c¢,) and

41.

42.

x? = 4a (y — c,) where C,, and C, are
variable, are such that they touch each
other, The locus of their points of contact
is

A) xy = 2a2 B) xy = 4a?

C) xy = a2 D) none of these

y?=4a(x—c,)wbhmib x*=4a(y—C,) 6T6rm
UIT 6 GO6IT W& 61T 69601 60 ONITGST M)
@am"_(h & ©\& 6T (eTHD yeirerfluSlesr
Blwwwourens (ki@ C,, whmibd C,
LTMOl&6IT)

A) xy = 2a?

B) xy = 4a2

C) xy = a2

D) Soubdlev agidlebemev

Tow parabola have the same focus, If
their directrices are the x — axis and y
— axis, respectively, then the slope of
their common chord is

Al B) Y
C) % D) none of these
X - &S wOHMID Yy SiFemns (PeomEw

SwisGaicomuns  O&sno. &dh
ureuemerwibisefledr @aiwb ceT@m

eT6ofl6L GluNg) HTewflesT FMiey
A)+1  B) %

C) % D) Soublev agidlevemev

An ellipse having foci at (3, 3) and (-4,4)
and passing through the origin has
eccentricity equal to

NSz B) 7
C)% D)%

(3. 3) whHmIb (-4, 4) 6r65TM LoiTeifle cmer
GNwihiserns ©O&reor  Heireul L b
S Sloyererfl euPlGw GlFcL&SIms) eTeoflon
D15 60T MIWS O\GHITEHVE)| §56)

A ¥ B) 7
C)% D)%

43. Thelength of the major axis of the ellipse
(5x — 102 + (By + 152 = BX =4y +7)°

_ 4
IS

A) 10 B) 204

C) 207 D) 4

(5x — 10)2 + (5y + 15)?= (3X—1y+7)2

6T6oT orall’_L &5ledr @mL_L_&&l6oT
m B 55 13

fHemrib
A) 10 B) 204
C) 2% D) 4

44 If e1 and e2 one the eccentricities of

the ellipse ¥ .Y _; and hyperbola
12 yz 18 4 )
3—T=1 e,, e,respectively and (e, e,)

is a point on the ellipse 15 x? +3 y?= k
than k is equal to

A) 14 B) 15

C) 17 D) 16
Tt =1 erebrm Bereul”_Lib b mid
x ¥,

o a 6160t DiSHlureucmeriud &lesr
®LOWE O&IT6t6V6)| & 6T WwemmBw
e, e, bmmib 15 x> +3 y?>= Kk er6drm
Borau L HSleor  @uepeiteor  yoierfl
(e,, e,) ereofleb k—6dT DS
A) 14 B) 15
C) 17 D) 16
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45. The equation of the circle passing ¥ 2

° _+_=1 °
through the foci of the ellipse >~ 42" _; (0.,3) cows miowionmed 5+ g = eT6bID

16 9 . . . . . . .
and having center at (0,3) is Beirou’ L S&l6sr @eilub euhl G chgid
oul_L_§S\edT FesTun(h
A)x?+y>—6y—-7=0
A)x2+y?2-6y—-7=0
B)x*+y?-6y+7=0
)X2 y2 y B)x2+y2—By +7 =0
C)x+y2—6y-5=0
Pty Y C)x2+y?—-6y-5=0
D) x?+y?—-6y+5=0

D)x?+y?—-6y+5=0
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